
DESIGNER | UP LIGHT | NP LED

Replacement Parts

ITEM DESCRIPTION CATALOG #

1–2 Lens Cap Assembly, Clear NPLCXX*§

1, 27 Lens Cap Assembly, Clear, Long Shroud NPLCLSXX*§

3–5 Beam Angle Lens See LED Chart

6-7 Screw See LED Chart

8-10 Reflector See LED Chart

11-14 LED Board See LED Chart

15 Socket, 3-meter 752601

16 O-Ring 250010280025

17 Body †

18 Knuckle Base
See Knuckle Base 

Chart

19 O-Ring 250010280002

20 Knuckle Subassembly KFM050XX*

21 Screw, 1/4"–20 x ¾" 250010290000

22 Screw, #10–24 x ⅜" 250013940000

23 Super Slot Spike 753900

24 Long Shroud –

25 Stainless Steel Bracket 250026820000

26 Strain Relief Connector 250026840000

27 Bracket Mount Knuckle Base -

25-27 Bracket Mount Assembly BM050XX*

28 Lock Ring (Order in Qty 25) 250030410000SP

*XX = Finish code
§Replace “C” with “F” for frosted lens option 
†This part is not serviceable. Contact Customer Support or a local dis-
tributor to order a complete product.

15

14

21

19

22

16

3 4 5

11 12 13

8

6 7

9 10

2

24

18

17

20

1

23

25

26

OPTIONAL BRACKET 
MOUNT

E0000 AAA 7/22/2012

REV ECO REVISION DESCRIPTION DRFT DATE APVD
N/A

NP
MATERIAL:

PRODUCT:

DRAWN
BY:

10/12/2020

SIZE: A

THIRD ANGLE PROJ.
.XX = ±.01

.XXX = ±.005
.XXXX = ±.0005

SHEET  1  OF  1

Hunter Industries
Engineering
1940 Diamond St.
San Marcos, CA 92078

±1°ANGLES:

N/A

F121110125XXXX

SH NUITPARTENAIRE (NP) ASSEMBLY, SHORT SHROUD

1:4

DO NOT SCALE DRAWING

ALL DIMENSIONS ARE IN INCHES

SURFACE FINISH:

UNLESS OTHERWISE SPECIFIED:

PRINT
DATE:

REV.DRAWING NO.

SCALE:

DESIGNER:

CHECKED
BY:

TITLE:REL.
DATE:

DIMENSIONAL
TOLERANCES:

THIS DRAWING/DOCUMENT CONTAINS TRADE SECRET INFORMATION OF HUNTER INDUSTRIES, INC. USE, PUBLICATION, AND/OR 
DISCLOSURE OF THIS INFORMATION TO THIRD PARTIES ARE ALL PROHIBITED EXCEPT AS EXPRESSLY AUTHORIZED IN ADVANCE BY HUNTER. 
NO PATENT LICENSE IS GRANTED TO ANY INVENTIONS DESCRIBED AND/OR ILLUSTRATED HEREIN.  ©COPYRIGHT HUNTER INDUSTRIES, INC. 

CONFIDENTIAL AND PROPRIETARY
B1 FORMAT REVISION 08/27/12 

DENOTES FUNCTIONALLY CRITICAL POINTS

DENOTES CRITICAL INSPECTION POINTS

28

27

+1-760-591-7383 fxl.com



FXLIT-027   NP   6/22

DESIGNER | UP LIGHT | NP LED

LED Chart

ITEM DESCRIPTION CATALOG #

3 1 LED Spot Lens (20º) 770600

3 1 LED Flood Lens (35º) 1LEDFLLENS

3 1 LED Wide Flood Lens (60º) 1LEDWFLLENS

4 3 LED Diffuser (20º) 771300

4 3 LED Flood Lens (35º) 3LEDFLLENS

4 3 LED Wide Flood Lens (60º) 3LEDWFLLENS

5 6 LED/9 LED Diffuser (20º) 771600

5 6 LED/9 LED Flood Lens (35º) 9LEDFLLENS

5 6 LED/9 LED Wide Flood Lens (60º) 9LEDWFLLENS

6 1 LED/3 LED Screw, #4–40 x ⅜" (Qty: 2) 762400

7 6 LED/9 LED Screw, #4–40 x 7/ 16" (Qty: 3) 250014550000

8 1 LED Reflector 770000

9 3 LED Reflector 770700 

10 6 LED/9 LED Reflector 771400

10 ZDC LED Reflector 250020690000

11 1 LED Board, 2nd Generation KIT1LEDRDW‡

12 3 LED Board, 2nd Generation KIT3LEDRDW‡

13 6 LED Board, 2nd Generation KIT6LEDRDW‡

14 9 LED Board, 2nd Generation KIT9LEDRDW‡

14 ZDC LED Board ZDCKITL**

‡ZD = Zoneable and dimmable (add ZD to front of part number) 
**ZDC Kit includes LED board, reflector (#13), screws (#10), and flood lens 
diffuser (9LEDFLLENS)

Knuckle Base Parts

ITEM DESCRIPTION CATALOG #

Knuckle Base, Bronze Metallic 252201

Knuckle Base, Desert Granite 252206

Knuckle Base, Sedona Brown 252207

Knuckle Base, Weathered Iron 252209

Knuckle Base, Black 252214

Knuckle Base, Flat White 252215

Knuckle Base, White Gloss 252216

Knuckle Base, Almond 252219

Knuckle Base, Silver 252221

1st Generation LED Chart

ITEM DESCRIPTION CATALOG #

1 LED Board 1LEDULKIT‡

3 LED Board                                                                  3LEDULKIT

6 LED Board 6LEDULKIT‡

9 LED Board 9LEDULKIT‡

1 LED Color Filter, Amber 770100

1 LED Color Filter, Blue 770101

1 LED Color Filter, Green 770102

3 LED Color Filter, Amber 770800

3 LED Color Filter, Blue 770801

3 LED Color Filter, Green 770802

6 LED/9 LED Color Filter, Amber 771500

6 LED/9 LED Color Filter, Blue 771501

6 LED/9 LED Color Filter, Green 771502

+1-760-591-7383 fxl.com


